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Ch 5 Review Questions: 0 n EL =
EAL v 4 m&n—é&j Z Pl S Loof V % s
A R, R ° &8
1 2 3 474 3] | \¢
C=1|1 4 5 4|lR;— R, — Rp, Rs — 9R; — R4 ¥
2 4 6 8|L }‘
T TN [ 3
coef
0)D Nh-

= b have at most one solution for
S

Cx = 0 have exactly one solutlon?

_#V = /O

2.) In an echelon form of C, is there a leading entry in every COLUMN?
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0 the only solution to Cx = 07
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4.) Are the columns of C linearly independent?

v 2N O
5.} Are none of the columns of ¢ aEiéear combi§ of the other columns!JO
of C7? Any Lree Var Co/um n Can
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6.) Are none of the columns of C in the¢“Span of the other columns of C'?
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0.) Does Cx = b have more than one so
cq9 L=08

1.) Does Cx = 0 have an infinite number of solutions?

2.) Are there free *va,rlﬂlE in the solution to Cx = 07

PE——

3.) Does Cx = 0 have a ro solution? ( | I o
V, €. o
&2, 5
4.) Are the colum inearly-dependent?

5.) Is one of the columns of ¢

tion for some b?

a linear comb’n of the other columns of C?

6.) Is one of the columns of C in the span of the other columns of C?

If possible, write one of the columns of C as a linear combination of the
other columns of C:
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1.) Does Cx = b have at&&ait one solution for aﬂ b? "
2.) Does Cx = b have a solution for all b? .f?
£ 9,
3.) In an echelon form of C, are there NO rows of all zeros? " &
LA
4.) In an echelon form of C, is there a leading entry in every ROW? \x\u i
3
5.) Can any vector in R — be written as a linear comb’n of the columns v 9
of C? ) 0
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6.) Do the columns of C span R —7 — y 7 — % \:l
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1b.) Find a solution to the equation Cx = | 7 |.

Lo

3b.) Write 3 + 7t + 6t? as a linear combination of
{1+¢+2t%, 2+ 4t + 42, 3+ 5t + 6t2, 4+ 4t + 443},
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2b.) Write | 7 | as a linear combination of the columns of C. s
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la.) Does Cx = | 2 | have at least one solution? /\J O

ol oo

1b.) Does Cx = | 7 | have at least one solution? \{ Z S

2a.) Is

2b.) Is
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a linear combination of the columns of C; I\J 0
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a linear combination of the columns of C: \( é 5
e

lin e gpan of o colomsf C + ¥

3a.) Is 4 + 2t a linear combination of U O
{1+t+26%, 2+4¢+ 42, 3+ 5+ 612, 4+ 4t + 43)7

3b.) Is 34 7t + 6t2 a linear combination of Y é_s
{1+t+262, 244t + 42, 3+ 5t + 62, 4 + 4t + 4t3)7
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linearly independent? N C)
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Is 0},]10],]|-3 linearly independent? A/ O
0 1 0

0
Is } linearly independent? Y é



Jo ¢ 30

%
for o
Is {9+ 7¢,4 + 8¢,3 — 5t} linearly independent? [«

Thm: Let S be a set of n vectors in R* where
n > k. Then S is linearly dependent.

Thm: A set of vectors is linearly dependent if one
of the vectors can be written as a linear combi-
nation of the other vectors.

A set of vectors is linearly independent if none of
the vectors can be written as a linear combina-
tion of the other vectors.
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Is 2(,120 linearly independent?
3 30
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Is 21,15 linearly independent?
3 6
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Is 20,95 } linearly independent? @5
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